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BELH 8CH TTLIZ Pk EVa—)L

e

1/1058 2/108 48 3/105 1 4/105# 5/102 %
B 3096 BE&R BEER | BEl | Bank BERE BEGE | BEA
JOBEHE 10706 ] , A
BT TE) Ka3A [k45A aw (85,05 ) ais '709,0,9) aw |(J8y90) = ’743,06‘> # 'M)'ﬁ
K54A | ) Y 9,08
33 o] BRER | BEEE| ¥ | BERE | EXiiy | BERE | EXiiy
1 B LERES—FORE T ORE OK &t oK 13 OK &% oK 33 OK B
2. RERSABE )
L+ A7 —ONSF R4T LED ON OK A% oK a8 OK at oK ok oK &%
AHRE CHERRR) =46V (100mA) 6+ 01V 6.012 6.012 6.012 6.012 8012
HHORE *5V 5+ 0.1V 4981 &t 5.011 &t 4975 o 4972 &% 4977 am
ISLVAADBE ANRRRER
Vout:H 2.0V
VinH Vout:L ov
Vin:L SEUBEM 2Hz,20%duty
HhiR MR (50 Q AFTEEE)
IN OUT10UT2 CH1 OuT1 Vout:H 4. 0Vt 48 & 46 & 46 & 48 & 48 5
®@®® Vout:L 0_2VHT 0 & 0 & 0 & 0 & 0 &
@ @ ouT2 Vout:H 46 = 46 & 48 & 46 & 48 &
Vout: L 0 =X 0 =3 0 & 4] A 0 =
ouT3 ouT4 0oUT3 Vout:H 46 & 46 & 46 & 46 & 46 B
Vout: L 0 & 0 & 0 & 0 & ] &
ouT4 Vout:H 46 & 46 |l 48 & 46 & 46 &
Vout: L 0 & 0 & 0 & 0 ak 0 an
EEI EHYICRIMLT. EZHLED #0. 15s 015 + 001 P 0145 =3 0.145 =i 0.145 & 0.145 a 0.145 3
0.15s LEDAT
WELERY 1Hz  [cH2 ouT1 Vout:H CHiZR# 46 & 46 & 46 & 46 & 4.6 &
Vout:L 0 =X 0 A 0 & 0 & 0 P
ouT2 Vout:H 4.6 & 4.6 & 46 & 46 & 4.6 5
Vout: L 0 =3 0 =X [] 3 0 A 0 &
ouT3 Vout:H 46 & 48 & 48 & 4.6 8 4.8 (3
Vout:L 0 & 0 & 0 & 0 & 0 &
ouT4 Vout:H 46 & 4.6 & 46 & 46 & 4.6 &
Vout:L 0 & 0 & 0 & 0 & 0 5%
EZHLED 0. 15s 0.145 ak 0.145 & 0.145 & 0.145 & 0.145 &
CH3 OUT1 Vout:H CH1ER# 46 & 46 & 4.6 & 46 & 4.6 &
Vout:L 0 & 0 & 0 & 0 & 0 F=3
ouT2 Vout:H 48 & 4.6 & 48 & 46 & 4.6 &
Vout:L 0 & 0 & 0 & 0 Bk 0 &
ouT3 Vout:H 48 & 46 & 46 S 4.6 & 4.6 &
Vout:L 0 % 0 3 0 a 0 & 0 &
ouT4 Vout:H 46 & 46 & 46 & 48 & 4.6 &%
Vout:L 0 & 0 & 0 & 0 = 0 F3
EZHLED #0. 15s 0.145 & 0.145 & 0.145 & 0.145 & 0.145 &
CH4 OuTi1 Vout:H CH1tRE# 4.6 & 46 & 48 & 46 & 46 a%
Vout: L ] & 0 & 0 & 0 e 0 &
ouT2 Vout:H 4.6 & 4.6 & 46 & 46 & 4.6 &
Vout:L 0 & 0 & [} ‘| [ & 0 &
ouT3 Vout:H 46 | 4.6 & 46 & 46 & 46 &
Vout:L 0 B [] =3 0 & [] & 0 =3
ouT4 Vout:H 46 & 4.6 & 46 & 485 & 4.6 &
Vout: L 0 & 0 & 0 a 0 &% 0 &
EZHLED $#0. 15s 0.145 & 0.145 & 0.145 & 0.145 & 0.145 &
CH5 OUT1 Vout:H CH1 LRI 4.6 & 46 = 46 & 46 & 46 =
Vout:L 0 = [] = 0 & 0 o 0 =3
ouT2 Vout:H 46 & 46 & 46 & 46 & 46 &
Vout:L 0 & 0 & 0 & 0 & 0 &
ouT3 Vout:H 46 & 4.6 & 46 a 46 af 46 &
Vout: L 0 & 0 & 0 & 0 & 0 &
ouT4 Vout:H 46 o 46 &% 4.6 & 46 s 4.6 )
Vout: L )] o 0 ar 0 &% 0 &% 0 &%
E=HLED $0. 15s 0.145 &k 0.145 a 0.145 & 0.145 &% 0.145 &
CH6 OUT1 Vout:H CH1&RI# 48 & 46 e 46 % 46 X 46 a8
Vout:L 0 % 0 &% 0 | 0 &% 0 &%
ouT2 Vout: H 48 & 46 5 46 & 46 | 48 i
Vout: L 0 2 0 o 0 A% 0 &t 0 X
ouT3 Vout:H 46 % 46 & 4.6 a8 46 a8 4.6 a1
Vout:L 0 & 0 & 0 & 0 & 0 a%
ouT4 Vout:H 4.6 a8 46 at 46 a% 4.6 a% 46 &%
Vout:L 0 & 0 & 0 & 0 &% 0 a8
EZHLED 0. 1568 0.145 a% 0.145 5 0.145 & 0.145 ] 0.145 S
CH7 OUT1 Vout:H CH1:R# 46 & 46 | 46 % 46 & 46 &
Vout: L 0 & ] & 0 & 0 a% 0 ot
OuUT2 Vout:H 46 & 46 B 46 a8 46 | 46 o
Vout:L 0 o 0 a% 0 & 0 a8 0 am
ouT3 Vout:H [ &% 46 &% 46 =] 48 B 4.6 a8
Vout:L 0 | 0 i g 0 & 0 % 0 %
ouT4 Vout:H 46 &8 46 a8 46 &% 46 & 46 &
Vout:L 0 &t 0 &% 0 & 0 at 0 i
E=HLED #0. 15s 0.145 atE 0.145 et 0.145 & 0.145 a8 0.145 a8
CH8 OUT1 Vout:H CH1:E# 46 = 48 & 46 & 46 &tk 4.6 &
Vout:L 0 & 0 & 0 & 0 & 0 &
ouT2 Vout:H 46 & 46 = 46 5 4.6 & 46 &
Vout:L 0 & 0 & 0 & 0 B 0 &
ouT3 Vout:H 46 & 46 & 46 B 4.8 a8 4.8 &
Vout:L 0 & 0 & 0 & 0 & 0 &
ouT4 Vout:H 4.6 & 46 & 46 & 4.6 & 45 &
Vout: L 0 & 0 % 0 & 0 & 0 &
EZ4LED #0. 155 0.145 & 0145 & 0.145 & 0.145 & 0.145 B
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() 3096 BESR BRERR BRESR BREER | RERR |
JOBEE 10706 " L2
HNEES Ka3A {K45A & # a | (785,05
K54A =
B BEORE BEER | BEEE Efiid
1 BELENEL—ONE T —rOEE oK 33 OK 33
2. BRRS1VBRE
_E>T 13 —ONB§ AT LED ON oK 8% oK a% oK Ak OK Atk oK at
ANRE CHRER) ++6V (100mA) 8+ 01V 6.012 6.012 6.012 6.012 6.012
HAHRE -5V 5+ 0.1V 4.958 a% 4989 o 5.006 | 4.988 L 4.988 i
RLAANBR AN EE
Vout:H 20V
Vin:H Vout:L ov
Vin:L WELREM 2Hz.20%duty
HAMARELE (50 AFER)
IN OUT10UT2 CH1 OuT1 Vout:H 4. ovil 46 & 46 & 46 & 4.6 5 46 &
Vout:L 0. 2VELTF 0 & 0 & 0 & 0 3 0 &
ouT2 Vout:H 46 & 46 & 46 & 46 S 4.6 &
@ @ Vout:L [1] & 0 B 0 & 0 P 0 &
ouT3 ouT4 ouT3 Vout:H 4.6 & 46 & 46 & 46 & 46 &
Vout:L 3] =3 0 & 0 & 0 & 0 P
ouT4 Vout:H 46 & 46 & 46 & 48 & 46 ats
Vout:L 0 & 0 & 0 & 0 & 0 &
EELEAYIZRBLT. E=4LED #0. 15s 015 + 001 | 0145 & 0.145 & 0.145 & 0.145 & 0.145 &
0.15s LEDAAT
WELRES 1Hz CH2 OuT1 Vout:H CH1LREi# 46 & 46 = 46 & 46 & 46 &
Vout:L 0 = 0 = 0 & 0 = 0 &
ouT2 Vout:H 46 & 46 & 46 a 48 o 46 &
Vout:L 0 & 0 =X 0 B 0 a8 0 o
ouT3 Vout:H 4.6 & 46 & 46 & 46 &% 48 otk
Vout:L 0 & 0 & 0 & 0 & 0 %
ouT4 Vout:H 46 & 46 & 46 & 46 & 46 &
Vout:L 0 & 0 & 0 & 0 & 0 &
E_HLED $40. 15s 0.145 & 0.145 & 0.145 B 0.145 & 0.145 &
CH3 OUTi Vout:H CH1&RE# 4.6 & 46 & 46 = 46 & 4.6 &
Vout: L 0 & 0 & 0 & 0 & 0 af
ouT2 Vout:H 46 & 46 & 4.6 |t 46 & 48 [
Vout:L 0 I3 0 & 0 B 0 A 0 &
ouT3 Vout:H 46 & 46 A 4.6 & 4.6 ak 48 a5
Vout: L 0 & 0 & 0 & 0 & 0 &
ouT4 Vout:H 46 &t 4.8 & 4.6 & 46 & 48 &
Vout: L 4 & 0 & 0 & 0 B 0 &
EZHLED #0. 15s 0.145 & 0.145 & 0.145 & 0.145 o 0.145 &
CH4 OUT1 Vout:H CH1:FE# 4.6 & 48 & 4.6 & 46 ot 46 &
Vout:L [ & 0 & 0 & 0 & 0 &
ouT2 Vout:H 48 & 48 & 46 a8 46 % 4.6 &
Vout: L 0 3 [1] & 0 o Q = 0 =
ouT3 Vout:H 4.6 &t 4.6 & 46 & 46 % 46 &
Vout:L 0 = 0 & 0 & 0 & 0 ol
ouT4 Vout:H 48 & 46 & 46 & 48 & 4.6 &%
Vout: L 0 & 0 & 0 e 0 &t 0 &
E-HLED #10. 15s 0.145 3 0.145 & 0.145 & 0.145 & 0.145 a8
CH5 OUT1 Vout:H CH1:@E#k 46 & 46 & 4.6 & 4.6 & 4.6 &
Vout: L 0 & 0 & 0 A 0 & 0 &%
ouT2 Vout:H 46 & 46 & 4.6 & 4.6 &% 4.8 )
Vout:L 0 & 0 & 0 & 0 =3 0 &
ouT3 Vout: H 48 & 46 ok 46 & 48 a 48 &
Vout:L 0 & 0 & 0 & 0 & 0 &
ouT4 Vout:H 46 & 46 a8 46 &% 46 a 48 al
Vout:L ] & 0 B 0 % 0 a% 0 &t
E£=4LED #0. 16s 0.145 aR 0.145 ar 0.145 B 0.145 & 0.145 &
CH6 OUT1 Vout:H CH1EEH# 48 a8 46 &% 48 & 46 % 48 o
Vout: L 0 % 0 & 0 &k 0 & 0 &
OUT2 Vout:H 46 & 4.6 a8 4.6 ok 4.6 &% 4.6 &%
Vout:L 0 &% 0 & 0 B 0 & 0 i
ouT3 Vout:H 4.5 =3 4.6 & 46 % 46 & 4.6 &4
Vout:L 0 & 0 &% 0 & 0 & [} &
ouT4 Vout:H 46 & 46 & 46 & 46 % 46 &
Vout:L 0 L) [ i’ 0 B 0 ] 0 a8
E=HLED #JO. 15s 0.145 a8 0.145 a8 0.145 &% 0.145 &% 0.145 o
CH7 OUT1 Vout:H CH1 LR 48 X 46 &t 46 & 46 o 48 &
Vout:L 0 a8 0 At 0 3id 0 &t 0 &
ouT2 Vout:H 46 & 46 ak 46 & 46 & 46 o
Vout:L 0 &% 1 &% 0 X 0 o [} af
ouT3 Vout:H 46 &% 46 &% 46 &% 4.6 s 46 &%
Vout: L [} e 0 & 0 o 0 o 0 e
ouT4 Vout:H 4.6 & 46 &% 46 at 46 % 46 %
Vout: L 0 a8 0 & 0 &t 0 &tk 0 at
E=4LED $#0. 158 0.145 a8 0.145 a 0.145 Bk 0.145 a 0.145 ot
CH8 OUT1 Vout:H CH1EFH 48 & 46 & 46 & 46 & 4.6 &
Vout:L [1] & 0 &tk 0 =3 0 & 0 &
ouT2 Vout:H 46 & 46 & 48 & 46 & 46 3
Vout:L 0 & 0 & 0 & 0 & 0 &
OuT3 Vout:H 46 % 46 & 46 & 46 o 46 %
Vout:L 0 & 0 =X 0 & 0 & 0 &
ouT4 Vout:H 46 & 46 & 46 & 46 & 4.6 &%
Vout:L 0 & 0 & 0 =5 0 & 0 &
EZHLED #0. 155 0.145 &% 0.145 & 0.145 & 0.145 & 0.145 &




